Check “Flexsim: by probability”

W. M. Song 228!
Tsing Hua Univ. /B K&

2015.12.09

W. M. Song 28 Tsing Hua Univ. FEAZ2 Check “Flexsim: by probability”



0 Flexsim: Default “By probability”
a Fix the bug in the default “By probability”

a Comparison
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Flexsim: Default “By probability”

Flexsim: Default “By probability”
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Flexsim: Default “By probability”

Flexsim: Default “By probability” -
Conti.
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Flexsim: Default “By probability”

Code in “By probability”

e Do you see anything wrong?

-~ /Processor3 - Send To Port

Processor3 - Send To Port

1 treenode item = parncde(l);
2 treenode current = cwnerckbject(c);
3 jexep 2 B

o I
@ int stream =
7 treenode data = node(">tags/data”, Current);

g int size = content(data);

9 int randomnum = trunc(uniform(0.0, 100.0, stream));
10 double total = 0.07

11 f***g i
12 total += /**
13 if (randomnum total)
14 return
15 total += /** :
16 if (randomnum total)
17 return ¢ ©
18
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Flexsim: Default “By probability”

Simulation Experimenter

e Replicate 5000 times
e Performance measure: p1 in Global Table

5 Simulation Experiment Control -

Scenarios | Performance Measures | ExperimentRun | Advanced |
Run to Time | 260.00 Warmup Time Replications per Scenario | 5000.00

| Reset Experi t [ 5ave dashboard data for each replication
ese rimen
pe [] save state after each replication

Experiment Status

View Results ‘ | Export/Merge Results | [] Export results after each replication
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Flexsim: Default “By probability”

Results: C.I
e Resultis 0.91 which differs from the ideal value: 0.9

-~ Performance Measure Results - B
pl vl |Datz Summary vl Mean Based on Confidence
p1
Mean (95% Confidence) Sample Standard Deviation Min Max
Scenario1 091 < 091 < 091 0.02 083 098
a | ReportPreferences || Generat=Report  v|| Close
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Fix the bug in the default “By probability”

Edited Version

-~ /Processor9 - Send To Port

Processord - Send To Port

1+

2 treenode item = parnocde(l);

3 treenode current = ownerchiect(c);

4

5int stream = 1;

6 int randomnum = duniform(l, 100, stream); I
ouble total = (.07

g

9 total += 307

10 if (randomnum <= total)

11 return 1;

12 total += 107

13 if (randomnum <= total)

11 return Z;

15

288 Tsing Hua Uni by probability”



Fix the bug in the default “By probability”

Results for the Edited Version

e C.I. match the ideal value: 0.9

e Performance Measure Results = B
p2 vl ‘Data Summary vl Mean Based on Confidence
p2
Mean (95% Confidence) Sample Standard Deviation Min Max
Scenario1 09 < 09 < 09 0.02 0.82 097
IE‘ | Report Preferences | ‘ Generate Report v| | Close
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Flexsim: Default “By probability”

Comparison

Default “By

Probability”

int stream =1;

int randomnum = trunc(uniform(0.0,

double total =
total +=90;

0.0;

if (randomnum <= total)
return 1;

total += 10;

if (randomnum <= total)

return 2;

Fix the bug in the default “By probability”

100.0, stream))f;

Edited Version
“Custom Code”

int stream =1;

int randomnum = duniform(1, 100, stream));
double total =
total +=90;

0.0;

if (randomnum <= total)
return 1;

total += 10;

if (randomnum <= total)

return 2;
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Flexsim: Default “By probability Fix the bug in the default “By probability Comparison

Discussion

e Expected Mean Rate: 90%
e Thereis a bug in the default “By Probability”

Correct Version
e sample mean rate: 0.902232
e se(sample mean rate): 0.00314

e Output (Leading Digit Rule, LDR):
sample mean rate: 0.902
(Ok, since it should be 0.9)

FlexSim Default (Error)

e sample mean rate: 0.911656
e se(sample mean rate): 0.00286

e Output (Leading Digit Rule, LDR):
sample mean rate: 0.912
(Not Ok, since it should be 0.9)
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